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1 LY LX; LX. ADF
ctp ADF 5%
1985 20 LY cto 250594 | -3.6454
1Ly ctl 3264944 | -3.6746
LY 000 7306715 | -1.9602
1995 LX1 ct2 2857622 | -3.6746
ILX1 cto 2801004 | -3.6501
LX1 | 000 -5.098338 | -1.9602
Lx2 ctl 3252632 | -3.6501
ILX2 ct3 -3503316 | -3.7119
Lx2 | 003 2622028 | -1.9642
2
1985 19 7 2006 4284 89
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Eviews3 1 GDP X1
Vecm X2 Y
Vecm=LY-13 37198 LX,+ 3 499436 L X, + 31 26413 1 Y X2
Vecm ADF 2 GDP X1
2 Vecm X
ctp ADF 5%
Vecm 001 -2.398142 | -1.9592 1
Vecm 0 GDP
1
GDP 13 37% 1%
3 50% 1% Vecm
2
3 VECM GDP
LY LX; L Xz
VECM EVi-
ews3 1 VECM AlIC
SC -9 407 -8 511 3 GDP
-0.0327 -4.5082 -24102 —0.2448 03346 1992 40 2005
A¥, =| 00153 02831 -0.6375 AY, +| 0.0185 [ecm+| 0.0332
0.0037 —0.1747 0.8007 -0.0192 0.0084 2182 5 36 8%
Y=[LY LX: L X.J" Vecm=[1-13 373 49]*Y,+31 26413 13
1992——2002 2000
4 2005
LY LX; L Xz
Engle Granger
Eviews 3 1 4 GDP
3
3 Granger
Null Hypothesis Obs F- Statistic | Probability
L X, does not Granger Cause LY 20 4.58720 0.02789
LY doesnot Granger Cause LX: 0.16554 0.84896
L X, does not Granger Cause LY 20 0.39062 0.68333
LY doesnot Granger Cause LX: 1.06816 0.36839
L X, does not Granger Cause L X 20 5.15760 0.01974
L X, does not Granger Cause L X 5.24392 0.01876
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